Cycle Five Supplemental
Write the correct answers on a separate sheet. 
· GENERAL LEVEL: The basic workforce. General Level jobs require the least education and skill. Also, GLW for General Level Wages. The amount a GL worker receives depends on Alternatives and Price Mechanism pressure.
· SUBSISTENCE: The bare minimum to maintain life.
· IRON LAW OF WAGES: According to David Ricardo, as more unskilled workers competed on a fixed supply of land, without a better natural alternative, wages would tend towards subsistence. 
· NATURAL ALTERNATIVE: Free land.
· MARGIN OF PRODUCTION: The best available free land.
· WORKING POOR: General Level workers unable to rise above a bare living as General Level workers.
· FANTASTIC ISLAND: A model used to illustrate the downward pressure on wages for the General Level as good land is occupied or fenced in.
· THOMAS MALTHUS: Thinker who argued that population would tend to increase faster than the food supply leading to overpopulation.

· SOCIAL WELFARE: Programs designed to deal with the Iron Laws through transfer payments of money or aid from one group to another. 

· PRODUCT SPECULATOR: Someone who risks his money in predicting future market demand. The product speculator helps smooth the operation of the market. 
· LAND SPECULATOR: Someone who keeps land out of production until his price is met (Anticipated Future Value). As Land is a Factor of Production, this tends to make increasing production difficult for the economy as a whole.

· ANTICIPATED FUTURE VALUE: A personal value that takes time to realize.
· POPULATION DENSITY: The amount of people living in a defined area. This is often expressed in terms of people per square mile, or kilometer. For example, the population density of the Netherlands is 395/km2, whereas the United States has only 30/km2. The Netherlands ranks 15th in the world, China, 54th, and the U.S. 143rd, in density. If you want to live in a really “empty” country, try Mongolia—just 1/ km2! (Source: http://en.wikipedia.org/wiki/List_of_countries_by_population_density). About 90% of the earth's people live on 10% of the land. Additionally, about 90% of the people live north of the equator. Population density of the continents: 

· North America - 32 people per square mile 

· South America - 73 people per square mile 

· Europe - 134 people per square mile 

· Asia - 203 people per square mile 

· Africa - 65 people per square mile 

· Australia - 6.4 people per square mile 
· The population density of the planet (including all land area) is about 105 people per square mile. If Antarctica is eliminated (since it has zero population density), the world population density rises only to 115 people per square mile. 
· The population density of the United States is approximately 76 people per square mile. (Source: http://geography.about.com/od/populationgeography/a/popdensity.htm)
· INTRINSIC REWARDS: Non-monetary reasons for taking a job.
· DERIVED DEMAND: The demand for Labor is derived, meaning that it is dependent on the kinds of goods consumers want.
· INDUSTRIALIZATION: The process of mechanizing production.
· CAPITAL-INTENSTIVE: A job that makes use of heavy equipment.

· LABOR-INTENSIVE: A job that relies more on manual labor than heavy equipment.

· AFFIRMATIVE ACTION: A government program of the mid-1960s that was supposed to eliminate racial and gender bias in hiring practices. 

· MINIMUM WAGE LAWS: Wage price floors that were first mandated by government in 1938. This law tends to price some low-skilled workers out of a job. 

· LABOR UNION: An organization of workers that tries to negotiate with their employers for better wages and working conditions.

· OPEN/CLOSED SHOP: An open shop means a worker isn’t required to join a union in order to be employed.

· STRIKE: A worker’s refusal to work until certain conditions are met.

· COLLECTIVE BARGAINING: A process whereby union and management representatives try to settle a labor or contract dispute.

· MEDIATION: In a labor union dispute, mediation means calling in a neutral third party who is supposed to propose a way to settle differences.

· ARBITRATION: In a labor union dispute, arbitration means calling on an arbiter to make a legally binding decision.

· BOYCOTT: An organized effort to get customers not to buy the products of a business until a labor issue is resolved.

· LOCKOUT: This occurs when an employer locks the door of a business to all workers until a contractual agreement is met.

· INJUNCTION: A court order not to strike. Injunctions are often restricted to those activities that would threaten the public’s health or safety. 

1. ___argued that population tended to increase faster than the food supply, so overpopulation was inevitable. 
2. The lowest wage one can accept is ___.

3. A ___ is a wage price floor.
4. When workers go out on ___ to get better wages or working conditions, there is no guarantee their demands will be met.

5. The ___helps smooth the operation of the market by causing prices to level out.
6. According to Ricardo, as more people occupy a fixed quantity of land, wages for the least skilled will tend towards ___.

7. The downward pressure on wages of the least skilled came to be called the ___.

8. In the Fantastic Island model, wages for the General Level are determined by the best available free land (natural alternative), or what is called the ___.

9. The demand for labor depends on the products people are willing to buy. This means demand for labor is a ___.

10. Comparing the continents, North America is among the (least, most) populated of them all.

11. A job dependent on manual labor, such as picking fruit, is said to be ___ intensive.

12.  A crane operator would be an example of a ___ intensive job.

13. An __ might prevent police officers or air traffic controllers from going on strike.
14. Most everyone can perform a ___ job because it requires little training, or formal education.

15. Without counting Antartica as a land mass, the world population density is about 115 people per square mile. This makes the United States (relatively less populated, similar in density, overpopulated).

16. Without counting Antartica as a land mass, the world population density of 115 people per square mile makes North America seem relatively (empty, crowded, way overpopulated).

17. ____ programs are designed to assist America’s working poor, the elderly, or disabled who have relatively little income or savings. David Ricardo and Thomas Malthus believed these measures could not possibly end widespread poverty. Later, economist Henry George would explain how to enact measures to handle the problem without burdening production.
18. Labor unions favor a ____ in which all workers must first join the union to be hired.

19. A ___ makes increasing production difficult because he holds land out of use.

